1. Lose die Klammer auf

V2 (V3+2)=v6+2

V5 % (V8 —3) =40 — V15

(V3+v2)(V3-+v2)=3-2=1 (Binomische Formel)
(V8++32):V2=Va+V16=2+4=6

(\/§ + \/3)2 =342V15+4+5=8+2V15 (Binomische Formel)
(\/7 — \/§)2 =7-2V21+3=10-2V21 (Binomische Formel)

(VZ+V3)(VB - V3) = V2B — VZV3 + V3B —V3V3 = 1 - V6 + V24

2. Lose ohne Taschenrechner

V9 =3 V64 =18 V49 = 7
V36 =6 V121 =11 V225 =15
289 =17 V144 =12 V361 =19
400 = 20 169 =13 +v/1.000.000 = 1000
3. Rationalisiere den Nenner
3 _ 32 _ 32 9\/5_9x/ix/§_9\/€_3\/8
V2 V2V2 2 V3 V33 3
1 V7-2 _ V72 _ V73 _ 1 =5 . .
N 2T T T ) R Eh R 3\/7 1 (Binomische Formel)
V3 _1_1
V27 N9 3
V2. V2(V5+v2) V1042 _ V10+2
V52~ (V5-v2)(V3+v2) = 5-2 3
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